o L | A o s

— P oL

'I

A

B TRHE

ASV?%

WA )N M3. M5, 1/8.1/4. 3/8

RAEE SHES TR
ATRTSEREE]

& — 1L,
Kzh

@ BRIA2ENEREER
(5 EEFHELEBRFE)
i E S ASV310F . 410F 510F

® NEHAER RIGEL

@ HERKIERIBE IR 2 AR AR (ULIIFEV-0)
FRzES: ASV310F . 410F 510F

O HETHEI L BMER

JISFFS

BERTAE
ASV[3]1]o F{ ] |o1|—|06|D|K|
S agilﬁ %
e RHER] € WS
K AR
> HTERGIRF HC KIE.

1 M3E A B B 2ASV310F - 410F -510F ,
T e s | &8 Eams
_— FTicS | THEF ASV120F - 220F
i?:/gig,& S 37 | ASV310F-410F-510F

—— 22 ——————eEAETIE
S o IEEOE AR ®HIR
2 1) Bk M3 | M3x0.5 04 | o4 03 |05/32"
1) ZLRXM3,MS, M5 | M5x0.8 06 | o6 07 | ol/4"
gk o U10/32 | 10-32UNF 08 | o8 09 |05/16"
BRLT HoRhsk o 01 1/8 10 210 11 | 23/8"
_ M3_M5_U10/32 02 1/4 12 212 13 | g1/2"
TIES R 03 3/8
N NPT 04 1/2
R
o , EEE FIME(mm) BREER(Mm’)
S BEOE 4 |16 | 8 |10|12[5/32"1/4"|5/16"(3/8"|1/2"| IN—OUT | OUT—EXH.
ASV120F-M3 M3x0.5 | @ 0.3 0.3
ASV220F-M5 M5x0.8 @ | @ 1.3 1.3
ASV310F-01 R1/8 [ 2K ] 7 8
ASV310F-02 R1/4 o0 7 8
ASV410F-01 R1/8 [ XX ) 13.5 14
ASV410F-02 R1/4 o0 13.5 14
ASV410F-03 R3/8 o0 13.5 14
ASV510F-02 R1/4 oo 23 27
ASV510F-03 R3/8 0 27 29
ASV510F-04 R1/2 o0 27 29
ASV220F-U10/32 | 10-32UNF [ 3K ) 1.3 1.3
ASV310F-NO1 NPT1/8 [ 3K ) 7 8
ASV310F-N02 NPT1/4 [ 3K ) 7 8
ASV410F-NO1 NPT1/8 [ 2K ] 13.5 14
ASV410F-N02 NPT1/4 [ 3K ) 13.5 14
ASV410F-N03 NPT3/8 [ 2K ] 13.5 14
ASV510F-N02 | NPT1/4 oe 27
ASV510F-N03 NPT3/8 [ K ) 27 29
ASV510F-N04 NPT1/2 [ 2K ] 27 29
g

pile=s ASV120F ASV220F [ ASV310F -410F ASV510F

fFERARE =5

i EIR I E 1 1.5MPa

BEEAESD 1MPa

BIREAIE S 0.1MPa

R R A R R 13 A% /) #950% )+

SHRERE 1o [ 8@ | 12@ [ 15M

EAE TR BR. BRER. Bi%fE
AR AR [ BHRE ARYES
ST IRKER. BEENBBERESN.

(£, 7 xxBest Pneumatics 5 = iffP.4.102~

104)

117



ASV %3
£/

118

ASV120F ASV310F
OUT-EXH.E IN-OUT 2 OUT-EXH.RE
I |
—RMIEA: 0.5MPa 1000 —RMWES: 0.5MPa
- Ja 05 1500 15
800
ASV120F-M3-04
102 ¢ ASV310F 4 %
& E P 1000 I T 600— I 10 E
izt, oS iz(/ R é — B
£ 0 I : £
N = S < 400 =
] 401 I 500 > ] 5 T
[ 42 5 - # b
e -' 200 / KA '
= AS2201F-01-08 -/ _+* AS2201F
ollll. { O o | 0 0-‘7‘||| ||||| | o —‘-"!“_—llnl‘lla
012345678910 0 0102030405060.7080910 01234567 89101112
BB —RHUEH MPa oy
ASV220F ASVA10F
OUT-EXH.7TE IN-OUT R E OUT-EXH. R’ &
I |
— R AIES: 0.5MPa / 1000 —RMIEf: 0.5MPa
i 1:5 1500 ASV410F 115
100 | /
i ASV410F
800 |-
ASV220F |
41 o o
£ £ g 1000 & 600 - 0 £
=z ” 4 P4 L
< E}g < < E}S
£ 50 I £ £ a
€ 8 £ € 400 i
I 405w i 500 e s *
= 12 e
200 ;
// / AS2201F-02-10
ety L S AT O Sy T Yy
%i 2345678 . 00 0102030.4050607080910 %12345678910112 °
HEE S —RMUEH MPa smEs B
ASV510F
IN-OUTRE OUT-EXH.RE
430
—SRMES: 0.5MPa ASV: 51“:5‘7
/ 1800
3500 //
3000 ‘i //\
1400 ASV510F-02
/ 420
2500 <ASV5T0F02 1200
i ] [ s
o €
T '/ Z %901 AS3201-03-10 15 o
i s ~ B R
42 1500 7t i \ o / i
s S ! -10
'/ 800 ,J'
'
1000 e / /
| \ AS3201F-03-10 400 /]
e / 45
500 -
l, 200 ‘!l
£ /’
‘4 -
0 pe e Ry T o [ | 0 =T 1 | [ Y O | ginfoug-f 0
0 01020304 050607080910 012345678 9101112131415
—RHUEH MPa sHmEIEE




IS E

-H-l-
[==1

rh

swmm ASV E7)

ASV310F-410F-510F HREE ¢
#s | =Has TR &x
D @ @ @ @ ® @ ® 6 @ | miEA PBT UL94V-0
T [ Q@ |=x AL BRI A
& Q ¢t fa2 FEHBER
1 1 @ |stmsE ) T EEg
i ® |F# 4 T BER
i ~ — ® |8 HE ) T mEe
@ | EAEL #4H T BER
= BHE PBT - 7
= © |mi RERERR
4 0 [sEEtel PVAXE4
a DI NBR
D |OofE NBR
D |= HHPACR UL94V-0
5¥1) ASV310F,ASV410F i 4.
ASV120F-220F
R E B
PR S THER MR %
1 G > /8 D | maA PBT
® @ | kB 1) 4 T g
Q | % ) T mEg
/ D @ [ saEml PVA# %
] © | F# PBT M3 76 8 4.1 o8 R
2 ® | ¢’ #47 T b R
- _ Q@ | HmSE #18 LB RER
. ) ® | 88 =4 T mEg
ORI HNBR
19 B NBR
@ | % POM
3 @ | =@ T454H/NBR M3zt B PVC
! © | Bns POM - R4
OFE NBR
! © | owrmE NBR
4 1) M3 R AN,
[B] 2% & ANFE
| e e e i |
HHES TR A R | {E A RTAE 1

128 A HE 1 1 [ B

24 FRESE BEER/AETFEETSH
'an?%ﬁlliﬁﬂliﬁl EIE T 3~5HIA .

b o o o e e e e e e e mm mm mm Em mm mm mm mm mm Em mm mm mm mm mm mm

O
:

BI1 .2, B RIIMERIER Elﬁ'

119



ASV %3

ASV120F - 220F /52 R~ B

.
(S fxtin)
_EBRETIME od
N
1
< =
M g NI
- o) -
® N A N \y
-
M1
L1
@D2 h
AR~ L2
o BEETINE L4 XA RE
£S d U o o | b2 W L2 | B Fax | Min. [ Max | Min. | M1 g
ASV120F-M3-04 4 M3x05 | 55 | 93 | 72 | 214 | 25 | 98 | 286 | 261 | 258 | 233 | 127 | 5
ASV220F-M5-04 2 M5x0.8 8 93 | 96 | 228 | 276 | 111 | 31.4 | 286 | 27.7 | 249 | 127 | 8
ASV220F-M5-06 6 M5 x 0.8 8 | 116 | 9.6 | 236 | 284 | 111 | 31.4 | 286 | 27.7 | 249 | 135 | 9
¥ MBS M BLUT NERNS 2R
sHIRT
= ESETIE ¥ A RE
ES d T o | B2 | W L2 | B Wax | Min. [ Max. | Min. | M1 g
ASV220F-U10/32-03 5/32" 10-32UNF | 8 93 | 96 | 228 | 276 | 111 | 31.4 | 286 | 27.7 | 249 | 127 | 8
ASV220F-U10/32-07 1/4" 10-32UNF |8 12 | 96 | 236 | 284 | 11.1 | 314 | 286 | 27.7 | 249 | 137 | 9
¥ U10/32 R B AIF NE S R~ BAEF «
SMEad L1
ASV310F-410F-510F L2
EXH.
t
N
K —
: (000
d M1
- *
M2 tﬂ} EXH.
H i)
T L3
N i
ABRT o
5 = P * * 7 >
me EEETIME T H |'p1 | D2 | D3 L L B 1 a1 a2 | M1 | M2 | BE
d Max. | Min. | Max. | Min. | Max. | Min. 9
ASV310F-01-06S 6 168 |12.8 71.9 | 65.9 | 69.9 | 63.9 17 | 19 | 22
ASV310F-01-08S 8 R1/8 10 Hos 1527 [738 [67.8 | 71.8 |65.8 | 458|398 274 | 284 Hg157 53
ASV310F-02-06S 6 16.8 |12.8 71.9 | 65.9 | 69.9 | 63.9 17 | 19 | a0
ASV310F-02-08S 8 R1/4 4 H93 (15217 [7a8 [67.8 [71.8 |65.8 | 228|398 | 314|254 g~
ASV410F-01-08S 8 19.3 [15.2 831|756 | 811 | 73.6 19 | 21 | 39
ASV410F-01-10S 10 R1/8 12 533 185 | 2* [852 777 (832 |75.7 | 228|453 | 307 | 267 5344
ASV410F-02-08S 8 19.3 [15.2 831|756 | 81.1 | 73.6 19 | 21 | 47
ASV410F-02-10S 10 R1/4 % 53 185 | 2* 852|777 832 [75.7 | 228|458 347 | 287 55349
ASV410F-03-08S 8 10.3 [15.2 83.1 | 756 | 811 | 73.6 19 | 21 | 6
ASV410F-03-10S 10 R3/8 7 233 185 | 2* [852|77.7 |83.2 [75.7 | 228|458 [ 367 | 304 55343
ASV510F-02-10S 10 23.3 | 185 902 | 842 |88.2 | 82.2 21 | 23 | 69
ASV510F-02-12S 12 R1/4 7 2571209 ° [91.8 858 [89.8 838 | 200|496 398|338 o517
ASV510F-03-10S 10 233 | 185 902 | 842 |88.2 | 82.2 21 [ 23 | 73
ASV510F-03-125 12 R3/8 7 1257209 3 [o18 858|898 838 |20 496|418 355 5578
ASV510F-04-10S 10 233 185 90.2 | 84.2 | 88.2 | 82.2 21 |23 | %
ASV510F-04-125 12 R1/2 22 557 209 | %° [91.8 858 [89.8 |83 | 200|496 | 458 |37.6 5551 100
*: HEZHEHRT. ¥ REBGIBELT NERNSE R,
EHI R~
. 7 * * b3 * =
me EEETFIME T H |'p1 | D2 | D3 Ll L2 B | a1 a2 | M1 | M2 | BE
d Max. | Min. | Max. | Min. | Max. | Min. 9
ASV310F-N01-07 174" 172 [13.2 73 | 67 | 71 | 65 16.8 | 188 | 22
ASV310F-N01-09 5/16" NPT1/8 1127 H53 152 |17 [738 [67.8 | 71.8 | 66.8 | 8| 398 | 274 | 234 4o 57 53
ASV310F-N02-07 174" 172 [13.2 73 | 67 | 71 | 65 16.8 | 18.8 | 30
ASV310F-N02-09 5/16" NPT1/4 1143 Ho3T152 |17 [738 [67.8 | 71.8 |65.8 | 458|398 | 314 | 254 g5 755
ASV410F-N01-09 5/16" 19.3 [152 831|756 | 811 | 73.6 19 | 21 | 39
ASV410F-N01-11 316" NPT1/8 1127 1553 1.5 | 244 [85.2 [ 77.7 | 83.2 | 75.7 | 228 | 453 | 30.7 | 26.7 5353 |43
ASV410F-N02-09 5/16" 19.3 (152 83.1 |75.6 | 811 | 73.6 19 | 21 | 47
ASV410F-N02-11 316" NPT1/4 1143 1533 1185 | 244 [85.2 [77.7 |83.2 | 75.7 | 228 | 453|347 | 287 51153 [ 49
ASV410F-N03-09 5/16" 19.3 [15.2 83.1 | 756 | 811 | 73.6 19 | 21 | 6
ASVA410F-N03-11 316" NPT3/8  |17.5 1535185 | 244 (850 [77.7 | 832 | 76.7 | 228 | 453 | 36.7 | 304 57153 [ 63
ASV510F-N02-11 3/16" 23.3 [18.5 902 | 842 |88.2 | 82.2 21 | 23 | 69
ASV510F-N02-13 172" NPT1/4 1175 5551517 30 [91.0 858 [89.9 838 | 200|496 (398|338 I5yg1535 [ 72
ASV510F-N03-11 3/16" 23.3 | 185 902 | 842 |88.2 | 82.2 21 |23 | 73
ASV510F-N03-13 172" NPT3/8  |175 155512171 30 [91.9 [85.8 |89.9 |83.8 | °>0 | 496 | 418|355 5igio38 [ 78
ASV510F-N04-11 3/16" 3.3 [185 902 [842 | 882 | 822 21 |23 | %
ASV510F-N04-13 72" NPT1/2 1222 155515171 30 [91.9 [85.8 |89.9 |83 | 226|496 | 458|376 \5g 538 f00

*: HEHEHRA,
120

#: NPT HBEET N RS ERT.





